Warm-up - Essential Algebra Skills
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Evaluating Functions:

Example 1: Evaluate the function f(x) =2x2+3x—4
for the values -2, — %, 2, and V2

£E)=-2 £ ()=l0
LCPR)=-5  (dz)=312

t243

Example 2: Let p(t) = = Evaluate the following

expressions:
a) 3p(2) b) p(-2) c) p(x + 1)
3(1) 7 X 2+ X +4
3 3 X+6
Example 8: Let g(x) = ) Evaluate the following
expressions:
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Function Operations — Basic Definitions
Sum: (f + g)(x) = f(x) + g(x)
Difference: (f — g)(x) = f(x) — g(x)
Product: (f - g)(x) = f(x) - g(x)

: fx)
Quotient: ( ) (.'X.') = 9x) (note: g(x) # 0)

Example: Let f(x) = 7x—5 and g(x) = 3 — 2x.

Find (f- g)(4) = () - g(1)
,(—m_s)) — (3-2()

= 23 -(-5) =[3%]

Find (f+)(3) = €(3) + §(3) = (7(3)-5) + (3-23)

= 1+3 = 1_33

Example: Let f(x) =x+ 2 and g(x) = x? + 8x + 12.

) w2y ExH2 C\*&)Gﬁ@
a(§ = A - x5 - Letied (o)

Find (f - 9)3) = $03) - 9(3) = (3+2) - (3%+803)+a)
= 5 (45)
= Qa5
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Honors Pre-Calculus

Evaluating Functions and Function Operations

Evaluate each function.

1) f(n)= |—3n| —1; Find f(_4)
= \a\"‘\ :{\:\1

3) glx |2x| Fmng)
\a<6>\

5) h(x) = -x* — 2; Find 4(-4)
~ (-3 = = (~64)-2
= o4-a =1ed)

Perform the indicated operation.

7) h(n)=n-3

gln)=n>-3

Find (2 - £)2) = W (3) = ()

(2-3)- (3>-3)

EN-) =2

9) glx)=x>+x
h(x) =4x+2

Find (h +g)(-3) = h (3) ¥ g (-3)
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h(e) =2 -4
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2) kn) =n* - 5n; Find k(-8)
(-8)25(-6) = GU+H0 =10 )

4) h(n)=|-3n—1| + 1; Find 4(8)

| -3(@)\1n=]-as|+1 = a5+

6) k#) =-27 - 3; Find ¥(-3)

“J\(f3§2‘3

~Q(@y -3 = -18-3 = | 74
. 8) g(n)=n3+2n2

h(n)=2n+5
Find g(3) + 2(5)
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10) glx)=x-3
f(x) 3x2 +3x

Find (g - £)(5 6(5) (3)
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